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759 &%) (Brownian motion)
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Tp+1 = Tp +E&n
Yn+1 = Yn + Cn ,

(&i&) = (GiGj) = {g 8 ;j;
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(n=0,1,2,...)

BZl t, = nAt TO
PIFDRE: (20, Yn)
RFDTF LIS
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@2 +y2) = ((Co+&+  +&1)?+ (CQ+G+ +C1)?)

= (&) + &N+ + (&)
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iR D= =Y
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t X y XA2+yA2
0 0 0 0
1 0.289772 0.185654 0.118435
2 -0.95122 -1.5858 3.419576
3 -1.52172 -1.97328 6.209484

trajectory

—trajectory

0 EB2FEE AL
xi + y,,% o | D @2 = Y1 N O squared displacement
L ERERD S L o
GE) 4000 r
H+ sl @ 3000 e
D *}‘JL-\ ﬁ&1/%%ﬂ LE_ 2000y 5 1-9517x=200.56 d(i:lsplac:ment
M ) ~ % 1000 =057 #% (squared
J&{HIE%}?@%,E%h\b D é*&)éo -8 0 . displacement)
1.9517 S 0 500 1000 1500
D = — 0.4879 = ime
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X =z, THAHEE X =z, L0oHE  REIEEH
£, (n=1,2,..) o _n I
P Z@ fz ;p
EHNEGETIGE (B R—ILRIT)
r, < X <z, +Ax r< X <z+4dzx
THIEE f, ‘ iR plr)de
f. PR smian
EBHHE pn=s-5 N oo e
AL A f ple)ds =1
8 Pn/Ax — p(x)

Zpizl

x)dx ~ xT) ~
{p ()de > =ny Pl 5= f?;Ast



